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Problem quickname: 7596

b

Quick:
Fill in the blank cells with the correct terms, as shown in the example. a and b stand o
for a and b in (a + b)? or (a — b)?. Hint: All numbers are positive.

formula |a | b | a® | b? 2ab expanded form

(r—19)% | » | 19| #2 | 361 | 2r10=38 | 2381361

(r—10)% |+ | 10| +2 | 100 | 2r10=20r |  #2—20r+100

(y + 1’)2 y |z | y?2| 22 | 2yr=2zy 2222y +1>

(8472 || r | 64|+ | 28=16r r24+16r464

(x — y)2 x|y | 22| 42 2xy=2xy 2 —2zy+1?

(S + T)2 s| r | s | r? 2sr=2rs r24+2rs+s2

(2 —16)% | = | 16 | 22 | 256 | 2016=320 | 22—322+256

(r—20)% | » |20 |+ | 400 | 2r20=d0r | 1240 +400

(7“ -+ 8)2 r| s | 2| s2 2rs=2rs r24+2rs+s2

(S — 7“)2 s | r | s r? 2sr=2rs r2—2rs+s?
27) Quick:

7596
Fill in the blank cells with the correct terms, as shown in the example. a and b stand
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Solutions to smp-7596-1/CBBY

for @ and b in (a + b)(a — b). Hint: All numbers are positive.

formula a|b| a® | b | expanded form
(8s 4+ 3r)(8s — 3r) | 8s | 3r | 6452 | 9r2 645%—9r2
(Ar + 7s)(4r — Ts) | 4r | 7s | 16r% | 495> 16124952
(92 + 9y)(9x — 9y) | 92 | 9y | 8122 | 81y> 8122 —81y?
(3s4+67)(3s —67) | 35 | 6r | 95 | 3602 952— 3672
(Tr +9s)(7r — 9s) | 7r | 95 | 4912 | 8142 4912 815>
(6r + bs)(6r — 5s) | 6r | 5s | 361> | 2552 3612255
(87‘ + 38)(87‘ 38) 8 | 3s | 64r2 | 9s? 6412 —9s2
(52 + 9y) (5x — 9y) | 52 | 9y | 2522 | 81y> 2522 —81y>
(6s +4r)(6s — 4r) | 6s | 4r | 365> | 1612 36521672
(233 + 6y)(2:c — 6y) 2¢ | 6y | 42% | 36y 422 —36y2

3)

Fill in the blank cells with the correct terms, as shown in the example. a and b stand

for a and b in (a + b)(a — b).

formula a|bl|a®|b? expanded form
(204+2)(20 —x) | 20 | o | 400 | a2 4002
(T+x)(T—x) | 7]« |49 | a2 4922

ty)@—y) |« |y |2 |y 22—y’

(I + 9) xr — 9) x| 9| 22 | 81 x2-81

(r+13)(r—13) | » | 13| #* | 169 r2—169

(
(
(
(
(r+s)(r—s) | r| s | 2| s 72— g2
(
(
(
(

+x 17| = | 289 | = 289—x
(17 + 2)(17 — 2) : :
T+ T — z |11 | x 121 r°—121
(z +11)(z — 11) 2 ;
8+7r)8—=7r) | 8| r| 64| 2 64—12
(S + 7”) s — ) s | r | 2| r? s2—r?

4)

Fill in the blank cells with the correct terms, as shown in the example. a and b stand
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Solutions to smp-7596-1/CBBY

for a and b in (a + b)? or (a — b)?. Hint: All numbers are positive.

formula a | b| a? b2 2ab expanded form
(2r — 65)% | 2r | 65| 42 | 3652 | 22r65=24rs 472 —2475+365>
(4z + 63,/)2 4z | 6y | 1622 | 36y% | 2-4x6y=48xy 16224482y +36y2
(3x — 9y)2 3z | 9y | 922 | 81y? | 2:3z9y=bdxy 922 —54zy+81y2
(87 +85)% | & | 8s| 642 | 645 | 28r85=128rs | 64r2+128rs+64s>
(2s + 97“)2 2s | 9r | 4s* | 81r? | 2:259r=36rs 8172 +36rs+4s>
(b + 7y)2 5z | Ty | 2522 | 49y? | 2:5xTy=T0zy | 25x2+70xy+49y?
(9x + 6y)2 9z | 6y | 81z2 | 36y | 2:926y=108zy | S1x2-+108zy-+36y>
(10z + 7y)2 10z | 7y | 10022 | 4992 | 2:1027y=140zy | 10022+140zy-+49y2
(7s —5r)% | 7s | 5r | 495 | 2502 | 2.7s5r=T0rs 2512 —70r5+49s>
(7Ts —8r)% | 7s | 8r | 495 | 64r% | 27s8r=112rs | 64r>—112rs+49s>

Good Luck!
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